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Q No. | Question
SR e - |
4’( What are the Highest Common Factor and Lowest Common Multiple of 6, 72, 120? / |
| &
6, 72, 120 T Hgcad AT R ALAH FATIEE FT &2 q|
12, 180 Pe. 360 360, 6 [ 12, 360 il
2 If a quadratic polynomial y = ax?+bx+c intersects x axis at a and B, then / ‘
- aﬁwmaﬁwax%bﬁcm%ﬂxﬁawBWW%H’T J
X
. o+ p=-b/a [a+p=a/b [axB=a/c la/B=1 }
v c@; If in two linear equations ax + by = c and dx + ey = fand a/d = b/e = c/f then, which
> of the following is true about the two equations? / gfe gfavdry FHEOT ax+by =c
y 3R dx+ ey = £ 3T a/d = bfe = c/f A & WO & AR’ & Fet # ¥ F @ H X2
They represent intersectingleThey represent Have a unique | None of
lines / & 3iafdser® Y@t | coincident lines. / @ solution. / t& | these / 3oH
&I gl 8 Forer Y@t @ g § | RAv g € ¥ IS e
1
@2 % ,
7
//‘)"'u 4 Roots of the quadratic equations 2x* + x—528 = 0is : / gfaedr FHEROT 2% +x—528=0 F {A &
ok 16 33/2 | Both a&b/ a3l b 2t | None of these / 31 & #1$ AgT
Q»)O 5 Sum of all positive integers from 1 to 100 i.s‘: | T H?ﬂ?ﬂ?itgtrﬁa? 1 & 100 & 3T &
5050 | 5020 | 10800 | 2400
)
Q" F6‘ If area of similar triangles A ABC and A DEF be 64 sqcmand 121 sqcmand EF =
15.4 cm then BC equals: / & FA Pt A ABC 3R A DEF &7 &ther 64 @af . 3N
121 ot @ ¥ 3R EF=154cm &, & BC SR &
WA 8 cm / 8 & 18cm / 18 @Y. | 11.2cm/ 11.2 @& | 8.2cm / 8.2 TN,
SO
"ﬁ 55 (% 2 b’- ""),
*-{2/ 5 : ; R-wl
aﬁ 7 Area of a triangle with vertices at (2, 3), (-1, 0) and (2, -4) is ;- /
1l e fee, e ¥ (2,3), (-1,0) 3R (2,-4) & 5w aAwar &
21/2cm / 21/2 sq units / 21 sq units / None of these /
21/2 ¥ 21/2 & FfAe 21 & gfae ¥ S 8
5,
%y 8 2 x Tan 30°/ (1+Tan?30°) equals : / 2xTan 30"/ (1+Tan’30°) & sRreR gl &: 1
Sin 60° [ Cos 60° /;il Tan 60° [ sin 30°
7 «Q o0
) "’ (ah0 § x (@ 2 210 z‘(‘\"‘f,k
/?O _Z } _Y'B,f/ 2 ZB\AQM y h_‘{:_‘n——‘_—— i T, 4,9
B e
(0\,- ) Y 2+ 2250, Sty ol
> (5)/
| A '
! [ i3] -
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E7 .
The angle of elevation of the top of a tower from a point on ground which is 30 mtrs.
0

ol o ey

away from the foot of the tower is 30°. Height of the tower is :/ e g, St #=R & fererel|
Y & 30 #iex gy Rua &, @ AaR & ofn§ &1 S Fio7 30° § AR T FT78 &
10 / V3 mtrs. / t"10 X3 mtrs./ - 100 mtrs./ | 20 mtrs./

10 V3 e |10 Xv3 AR | 100 #ex | 20 AT

cms. from the centre of the

Rig @ 5 do. B g ) o

T_he Igngth of a tangent from a point A at a distance 5
circle is 4 cms. Radius of the circle is / fFeT 3 & &%

ﬁgvﬁm?mﬁrawré4ﬂﬁr%lqa£rﬁw%:

th v i DA sloron TN
2cms / 2 T 3 cms / 3 T, |¢3 oms / v3 @ | V3/2 cms / v3/2 B

5
Y ]
/ ' 11 Eength of a minute hand of a clock is 14 cms. Area swept by the minute hand in 5
&Z‘Z minutes is:/
_I;Z;, Wﬁ@ffﬁa‘&ﬁg@@rw‘émwﬁ.?Sﬁﬁaﬁﬁﬂtﬁgéﬁmaﬁﬁmz
154 sq cms/ 154/3 sq cms / 210 sq cms / 154/ 3sqcms /|
154 gt T, 154/3 a7 T | 210 Tt . | 154/v3 @31 Q.
\ e,
A S nv2h |
" 7 : - 22y3exh=
y “,,3 £ ::2:(,; A metallic sphere of radius 4.2 cms. is melted and recast into the shape of a cylinder |
> u;“"’)f' | of radius 6 cms. Height of the resultant cylinder would be: / |
%‘xﬁ' m4.2m.ﬁwaﬁm‘%ﬁmﬁﬁﬁwwwsﬂﬁr.%maﬁfaﬁgvé€m
@/a\ ﬁ'gﬂ:%ﬁi’ﬁﬁﬁmmﬁlmzaﬁm@fjﬁﬂém:
¢ 110 cms /110 @&, | 3.84 cms/ 3.84 T l 30 cms/30 . [2.74 cms/ 2.74 ‘mﬂ_J

blue, 2 white and 4 red marbles. if a marble is drawn at random from

| v g # 3 AW, 2.T2F

A box contains 3

the box, what is the probability that it would be white./

gﬁr4mﬁaﬁﬁ%ﬁr@§§§luﬁaﬁﬁﬁﬁﬁﬂ
Ty ST & @Y 3u% | @ Y wfddar e & |
&Y fora o Febel | 1 | 7/9 219

&z e @ AR

Cannot be determined/ fauifia

annot be the probability of an event? /

Which of the following C '
& @ Far @ gl $r yTRAAT 6T &1 Fehcl?

4
4/4‘4
:.x’)’

s =
Y1
95¢y
T

~ i.f’

M5

iCr=1
_2‘,3;:,//&/ [15% [0.7

lated using direct method, assumed mean meth
rouped data calcu n method or
Mean of 2 9 thod: | T FETE e @1 A, wedel fAfY, sfoua mey R r

step deviation me
P ¥ @l FOTAT A T

‘Has huge variation/ None of th eﬁ

g7 e g ¢ $H A HE g
-
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Which of the following is a Prime Number? / fdet & & &lsf t& 31814 e 8 3

12 r'/ 19 ‘4

quotient and remainder are : / & TEIE P(x)=x* = 3x + 5x-3 S gar § 9§98

; e
If polynomial P(x)= x* — 3x? + 5x-3 is divided by polynomial G (x) = x*— 2, the | :

G (x)=x*-2 @, aF afey 3R AvHa & | 3
x-3, 7x-9 | x, 7x | x-3, 7x [x, 7x-9
¥~
\j J 1/8 If in triangle ABC, if side AB=6v3, AC=12 and BC=6, then angle B equals: /
4 ws feer ABC #, AfY S5 AB=6V3, AC=12 3R BC=6 & @ T B FA &
120° '60° | 90° | 45° s
x>
|
N 19 What are the coordinates of the point which divides the line joining (-1, 7)and (4, -3) G@,,r\a_\
in the ratio 2.3 7 / ' 1 -
,Wﬁ'ga?ﬁ‘&riﬁwa‘a’ra\sﬁmm (1, 7) 3R (4, -3) F 2:3 F I A 0>
M
(7.4) [ (9,9) [(1.3) [ 4.7) 4
< C”’S/Q—\ ) (g;’é &
/26 Volume of a cone with radius r and height h sy S, '22
J 15 ﬁ.a@mﬁmraﬁijﬁiﬁhammmz
rh? | néh/2 | mrh/3 : [mhi3 .
(,3 2\) b ".L.—/——M_T/'(M'&) T k@,’ _C)
(2 , B ' S [
‘ ; ,z( International Day of Yoga is celgbr’ated annually on:/ = ), e
1 o 7§ SerEy QT R FAR S & .
ek o
@ 21 June/ 10 December / 21 July / 21 September /
i g 21 S 10 fEFT 213_{3’31@' . 21 faF 56
City of lakes’in India is: | ¥Ra # el &M AT g
Lucknow / Chandigarh / B_engaluru / “Udaipur /
Which of the diseases is not caused by virus? /
S A€ B 8 ? |
“Chickenpox/ ¥ | Dengue / ST Polio / ey
How many states aré there in India? / SR # foheel TS &7 o
' 28 K | 27 [29
n 7 ¢12/ x -
- - - 4 4]
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: "/ el F ArAFTA #,
During Akbar's regime, who carried out land revenue reforms: / & 2
| e s JUR A

Mann Singh / a7 fig Tansen / A

Todar Mal /eteT & [ Birbal / d&e

Which of the following is the unit of heat? / fowrer & & 3% &1 318 F1T & &7

“Joule / S Ohm/ 3=H Ampere/tFiaY Volt / afee

Who among the following is the future Buddha that is yet to come? / et & & Fie
HaST & qg & ey 3nh R g g ?

Lokes Varna Maitreya/ #3%
[vRer gof

Laughing Buddha

Chanakya / =morey
GUREICT

Jaundice is caused due to malfunctioning of :/

A £l o A7 e F Tl @ & o e 2
“Liver / #rex Stomach / 3¢ Pancreas / 37 Kidney / aef
| :
e |29 Tsangpo river flowing through Tibet is known in India as: /
3 - | T A @ A A Tl S e o s e 2 ,
A d Brahmputra / €#97 | Ganges /afarr Sutlej / Haqsl | Beas / amq 3
n V36 Yuri Gagarin,‘ the fir;t cosmonaut to reach Space, was from which country? .
I&MK‘Z- il gl e, afer & mmmm,maawm
UK / gerses fersa , Russia / =g
in L e 7
441 | What is boiling point of water in Fahrenheit?

theTgTse # el & FAUAD T
| 32°F

100°F

et~ T

Kalibangan, the Indus Valley _

33

Who was the founder of Banaras Hindy University? / '
TR g FavaRigmred & §EITE Sl 8

Sukumar Dey/ | Madan MOhanﬂM:IViya |
g
EJ
5 -
o t
R 1
' I —_
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34 Where do you find the temple of Angkorwat?

i a - — raiear | Myanmar / FTAR
Maﬂgﬁ? Malaysia / #afar | Combodia /

W Which of the following can cause a Tsunami?/ .
! ki oty il 3 z =t | Earthquake / SFF\‘H
g Volcanolﬁm@@ Avalanche / fRA-t@eist | Tornado / @5

1

|
The Bhakra Dam in India is built on: / iR & s@sT aiy @@ & '
Beas River Jhelum River Sutluj River Ghagra River

/e FqEy el JaaeeT AL [ETERT &

/ f' | Who wrote ‘Ramcharitmanas? /

THARTHAY & T @i a7
“Tulsidas/qeeere | Vedvyas/ deeare | Kalidas/ @eier | Panini/ 1oV

% The river known as Ganges of the South is:/ i T
| .

GTRIOT Y I & A F A A A Ay &
Godavari/ aeradr | Krishna/ T ] Kaveri/ #ad | None of these/ 318 & #1E AT

ﬁ39 i Where is the Tungbhadra Sanctuary located? /
| TS TARCY Fel oUd &2 |

| MP/ A ®¥ | UP / 5oR W | Kamataka / sfiem [ WB | TREH s |

40 | Where is Nanda Devi Mountain? / #igr a7 gdq e &2

‘Ut—tr—akhand/ Rajasthan/ Himachal Pradesh / | Arunachal Pradesh/T
E I RECES AT fearerer wer 3RS Ser

/WSamhita is the original name of: /S Gfgar e p—

Ramayana/ Bhagwat Gita / Mahabharata/
HETHRT

. afrar
14,
M Rickets is caused due to deficiency of : y —~ ———
# —
S R

F# & FROT F@T AT g &2

T

'Vﬁér/nr”/D / Vitamin K/ Vitami A/
¥ y min
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43" | Who was the first woman speaker of Lok Sabha?/ \

g
o T &y guH Afer GHAfa B oA
/Sumitra Mahajan/ | Najma Heptullah/ | Meira Kumar/ Paratibha Patil / i
G gt ASTHT EIeeTE AT FAX gfasT TRw
< 1
\}9/ With which sport is term Butterfly associated with:/ '
fFE A & SewaTs Use FHAOd ©7 4
Kabaddi/&assr Cricket/ Tde Football/geaTer Swimming/ T

45 | The resolution for removal of Vice President of India should be moved in: / ’

m%w-ugﬁ*mwmw@mms

Lok Sabha/ Rajya Sabha/ Either of the Houses/ | None of these /
GICoRG TS | ferelr T Heel H sAH ¥ HIS G
' J

4 /19/ What happens when dilute hydrochloric acid is added to iron fillings? /

9 EERERE CRiE & dier ¥ allg qoT & STo ST §, d T g £7
; “Hydrogen gas and iron| Chlorine gas and iron No reaction | Iron salt and water
‘ chloride are produced/ | hydroxide are produced/ takes place/ | are produced /
grsgio I 3R AT | FoiE A IR FE yfafear | 3R dee AR
FANES T & BRSNS Fofcll & Ay | o st
Helt fFe 3 fecdy + 4 5

v/ﬁ A solution turns red litmus paper blue. Its Ph is likely to be:/
; wF Hie el foreHd 9 H Al # aRafdd & gar § | sEHr 9. wEL ghem
4 |5 10

1

,ﬁg An element reacts with oxygen to give a compound with a high melting point. This
compound is also soluble in water. The element is likely to be:/

& ded IS & Y AR X v Ioq Ruee [g aren & A aear ¥ ag
i el 3 geihe #1 oE A .
Calcium/ HfeREIA J Carbon/ &Tde Silicon / fafe®lar | Iron/ 3mRe
—&7 @GP %+ QS v

- g 2 0::*‘—:&—5’%594& 6,1k = FO

‘/ggf— While cooking, if the bottom of the vessel is getting blackened on the outside, it

r means that : /
mmmuﬁmﬂﬂmﬁmﬁmg}m&mmgﬁ;.

The food is not “The fuel is Notburning | The fuelis wet | The fuel i ing |
s s burn
cooked completely/ completely/ $U quia: | / Serr afrer & completely / éul:rg

o st o 7t § o A 0 8 i 5 0 b
F g
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about the trend when going from left

i llowing statements is not correct
& Y:?;;Etoggrssiothe pe?iods of the periodic table:/ &t # ¥ Fla & FUA S Iad
RO F &’ & ad I E, iﬁrqqﬁﬂ?aﬁﬁﬂ'é‘fﬂﬁ?:
The elements The number of Atoms lose their | Oxides of the
become less valence electrons electron more element become
metallic in nature /| increase / seiagisl & | easily/ 3] 3ga | more acidic / dca
aedt & S | TR e A | gawe @ e & raTged AfAw
ufE e |demA g ad | seeh o @ ¥ | el @ o §
./5/1/ Kidneys in human beings are a part of the system for : /
Awa R # I Brw gomelr & U a9 §
Nutrition / 9ur | Respiration/ @& “Excretion/#el @@t a_?gansportation/a'ﬂr(
u ,é The gap between two neurons is called a: /
ar ==t F AT F HA F FEd e
Dendrite/3318T l/Synapse/ f@arcg | Axon/ TaRdieT Impulse/zFaea

53

\ In a plant, the anther contains: / T& W& & WY & grar

&

Sepals / T FT dAEICH

Ovules/ ey | Pistil / g9 BIGH

|

Pollen grains/ ORTeTEH0T

In evolutionary terms, we have more in common with:/

¥ e @, erd 0% TAWr

Bacterium/
Siraroy

o]

_{'AChinese school [ Chimpanzee / Spider /
boy/ T& it BT R HRS!
—— )

Which of the following material cannot be used to make a lens? /
By & FT @1 v ST S # T A R o @bl &2

Water/ dril Glass / afrerm Plastic / TenfEes  [Clay / g
26 | The human eyes form the image of an object at its:/
A o F Rl o @ wfafde aerar @
5 Cornea / #ierar | Iris / 3mewd [ Pupil / geer "Retina / Y
[
57_ | Which of the following terms does not represent electric power in a circuit? /
o # @ T v IR F faega afeq gy a8 axiar 87
\ ER [1R? LT VR
| :
B — 1




T :
~ he de;/;: l;;zd for producing electric current is called: / ]
4 Ge\rjerator/ e
SReT | Galvanometer/ deasi#iey | Ammeter/ 3@iex | Motor/ A
s
59 T

Which -
7 _;f the following is not an example of bio-mass energy source? /
Wil Id ¥ i My 33T T F TF ITEROT 76T 67
oo -
| ¥%& | Gobar gas/ #sX 3 | Nuclear energy/ g Fer | Coal/ el

o/

\S

Which _of the following constitute a food chain? /

e # & #l v wiey e S §?

Grass, Wheat iand |“Grass, Goatand | Goat, Cow and
Mango/erH, @€ 3R | Human / &1, Elephant / &,
H sy 3R AR ang AR grlr

Grass, Fish and
Goat/ 914, A

3R Tl

For question nos. 61-70, complete the sentence by choosing the most appropriate option

from those given below:
e e B

& e - =
61 \ﬂeasure and pazin are inseparable facets............... human existence.

13 T S D O e

_|in _|on | of | by 1

’———r'—’—‘_—_’— e .
62 |ls there.......... fitness centre_near your house?
an the ] a l none of these

63 He has hard!  read...... book._ :
all ‘the | none of these T |

man

e
lsa” | .........of pain is real and
Experiencing Experiencé ___

;ﬁ:q;{_s;bge's body, mind and spirit.
| Experienced l none of these

/// — ol i - q -

65 He drove with.......care nd hence was fined by Traffic Police.
/_, and 1’z -

much litte l all l T

. | ittie

/|~s4ts from all over the world.

_,,__//_,,f
66 | o cultural diversity attracts tour'st>.
/’l/ ndia___—— [Both (@) & (b) | none of these




88 | The......monkeys that escaped from the Delhi Zoo were found eating bananas in 3
fruit shop. -
many ; three )L I EE—— ﬁﬁﬂ@L

189 |Weare...... to go out for a picnic t

OMOITOW. < 4 [
plan [‘planning "_—\_,Ql_aﬂ,si | think ‘

. » ‘
470 The train must........ reached Delhibynow.
has l had M Lnone of these \

For question nos. 71-75, select the word spelled incorrectly.

L#1  [Imischeif | belief [thief | grief |
V72 | familiar | sin | hammer | grammer \

(/a/( i local
\/(5 S |73 | focal | | vocal | vehical | loca 2
N \\9\ W \ ce\r_penter 'kdenteist \ doctor | plumber ‘

| \/a"/ 175 [ volkeno | erater [lava | earth |

h For question no. 76-80, please choose one of the 4 alternatives that can be substituted for
\/ >

y the given sentence.
76

“ LA person who believes in God.
i | Theist | Cynic | Atheist

—

\ none of these J

oY < ——
E | Story of an individual by himself.

I"biography | autobiography | history

A book or paper written in hand.
edition [ draft manuscript

79 A number of ships.
fleet \ galaxy constellation M
)

A yound COW.
none of these
—— 10

| none of these \




- i in.
For question nos. 81-85, find the odd one out of the choices given therein. /

TR HEAT 81-85 #, R Rywedt & ¥ @ I

‘ - al Lake/ 3 ¥
81 | Vindhya/ faewr [Satpura / ®aqsT | Aravali/3RTaelt D
/ .
bz Ganga /arem | Yamuna/ & [ Brahmputra / SEAYT Kaveri/ Tl _J

53 : ATIATA
483 [Ammeter/ 3mirex [ Thermometer/2r#i#iiey | Barometer/&RT#IEY Temperature/

LBA/ Mango / 3T | apple / ¥ “potato / 3T blackberry /
| SoldarT
L
85 | Aizawal / 3mssiter | Itanagar / 3ereeR | Tripura / FqRT Shillong / RyemeT

For question nos. 86-90, each question contains a pair of words. Find the relationship
between these two words. Then choose from the options given in which the relationship is
almost similar. / 9% H&aT 86-90 #, Y% WA H UH yeq A ¥| At Uedt F AT gy
gl Wm%ﬁmﬁwmnammmmmaﬂgﬁm

86~ | Copper : metal / dfer : &7q o
. . e o ] :
engine : car / Furniture : wood / | Pen : pencil / Pepper : spice /
O : R \ U 9Re AT Famer
I T T s e
/a/ Granary : wheat / 3T : 3% Lot T
lake : water / wine : grapes / gallery : art/ Archi
. Ive : docume
sirer : Treir Al : 3R m:m_ m:mnts/
88 | Albania : Europe / 3rearferar : 3
Sydney : Australia/ Congo : South America/ |
e wefomr W : gfaor mRE

7 Uranium : Nuclear power piant /
R(ATH : RAY] Fft FIT

coal : washery / sand :sea /

HITT ; anrd G




) (O s~ 2

90 Hallikar : cow / gelret @ T
dachshund : dog / | Gir: lion /
SUYS © Fedl iR W

.//9:1 In the number series, what number should come next? 7, 10, 8, 11,9, 1280 / \

& 6 A, MWWWL@ .....
11 [15 [14 - Tio e

‘2."'?,’, Wu‘ 1, 9, e

\//9/2 What comes next R, U, X, A, D, .2/ Sy : .
R, U, X, A D, .. 30Tar &1 309m?
F [ TR JHEE l N

(93” | if the 7" day of a month is 3 days earlierthan Friday, then what day will be on the 19"
\ day of the month? /

uﬁwn‘éﬁwm.Wwﬁsﬁama a‘rn%’tﬁraﬁmsarﬁ?rwaﬂm
" Sunday/ IRER Monday/ 'm'aan

Wednesday@mﬁ \Frlday/aﬁﬁﬂ
OEXFEXT "

& [ [fEARNE related to RANE
g/‘;\g:5 A e afd B’OND 5 related | to NODB in the same way TEAR'S
B % EARN WM & RANE v
o} : IR BOND mﬁm % NODB# ar s sram TEAR waftd
\ _
o Vb ATRE AERT 3
‘Jo/'V TN | ARFT
Q‘,( il i "-',1.‘\ ! Ao

e’\ \'
{\% 95 | Average age of a father and hi

age of theson? / s?“ is 22 years. Ratio of thelr age is 10:1, what s t°
U e AR 36 O & :

40 years/aq a§ 6 years / 6 ¥




; For question nos. 96-
“and (:ll). Assum?n g? 100, each question comprises of a statem
g that the statement is true, which of the conclusions

the statement? /

e 00 |
a;;r:'ma%woamqqaﬁwmmaﬁmmmw)%wmﬁgv%m
’ 1 s aiffs w7 & Fua & wry 3faa g

2

Statement : FuA

RIeRT & §=T |

Conclusions: fasay
(1)
(1)

Ln 2oi:<; day cricket match, a team made 200 runs, out of which 160 run
y sp erS-/Wﬁamfar&rcﬁaﬁ,waﬂﬁzoomm,ﬁ@?fWOW

80% of team consists of spinners./ & & 80% I & |
Opening batsmen were spinners./ TRTFH Seerdrst o) & |~

ent and two conclusions (1)

foliow logically from

——=FIa " |

|
s were made |

T

.
()

Conclusions: fassy -
Change is ihe iaw of nature. / IRada SEft @1 e & | -
Discard old ideas because they are old./quw faRt &1 &mT &, FifH aF 0=

Only conclusion (I)  [“Only conclusion | Neither '
(ynor () | Both (1) & (I
follows / aer sy | (1) follows / follows / & ar (I) | follow / (l)3*“)'\r (1)
(1) 3meam e Brows (I) | 3 & () e | At @ e
e r
-k
|97 | Statement : wue

The old order changeth yielding place to new./qurer saa&T & T W AL eFaEdr Al

g
“Only conclusion (1) | Only conclusion Il | Neither (1) nor (1) | Both (
&
follows/ de . | follows / &ae follows /= & (1) follové 3 (|)(13I12R (1)
ﬁwﬁ(p)ﬁaﬂm frsad (II) 3meem | 3R @ (1) 3T | g g 3

Statement : YU

Conclusions: forsay
{)

(I

Only conclusion (1)
follows/ Fael

forsad (1) 3T

Because of growth in produ
India has become self-suffic

Previously India
JyrTe AT g3 AT | =
At this rate, In

ction of Aluminium by National Aluminium Compa

ient in Aluminium./ TSg IegfATATH FHrgel agﬂ?y’

ﬁ'{ﬁ'ﬁm Fcares H qu & RUT, AN 3|iﬂiﬁiﬁlm # e PR 11 m\% |

had to import Aluminium. / 9ge #Rd &I egfafEmeT
T

dia may start exporting Aluminium./ 38 &¥ R, Rq

1 i e A TP |

Only conclusion (in
follows / &ael

forsed (1) 3T

13

Neither (1) nor (11)
follows / & ar (1)

AR A& (1) I | & e

Both (1) & (11
follow / (1) 3 (n




Statement : U

All mangoes are golden in colo
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